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Taylor Polynomials
General procedure for finding an infinite polynomial series that converges to a "non-polynomial” function.
Review Factorials -
nl=nrn-1)(n-2)--3-21
where 0! =1

Tavlor Polynomial at 0

The nth degree Taylor polynomial for fat x = 0 is

Pn(x)= f(0)+f'(0)x+ f§?)x2+ f;(lo)x3+“.+.~.}:__(rpx" =Z:;]j.(::_!(0) xk

provided f'has n derivatives at 0.

Example f (X) = ex

o= lext x4y V,x34 Yoy x¥

M)

o)

Mo

k!

\

‘f

l

I

px l o
@YX | 7
px | \/2.4

COMPARE the graph of ¢ and the Taylor approximation to increasing values of n
on the calculator & discuss "interval of convergence"
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Taylor Polynomial at

The nth degree Taylor polynomial for fatx = a is
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provided fhas n derivatives at a.
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